CNV_M1_HG19 13 26639676_26655852 CHS

F=3

(S—— |

HG00707 e — HGO0690

HG00698

L] T
Hegtes

F=

280372

Inmen
HG00530  mummmm

HG00614.

-% )

HG00704

B CN1 = CN2

Hesasss

Hegez6

HG00534'
([0 R B

LIl
HG00589
HooDesr — |

HGO057/

S ———

HegRiR

mé -
I LT —— R

HGO0650

Hegesss

Heaeas

s

HEgRERs

LB
— HGO0BL4.

I E30520

Hooosgg
e —y

S ——
— e ——— (5512
ugﬂ:%g [T l---=—nesszss

——— s

HG00701

Heuuszu‘?s C—
- = I il.

HGOC
s

HEBR3s

1G00543

] ﬁf— j-
=
il

S

LU LT L ——— s

v

00531 me—

o

HG00610
ImEm

— HGO04T6

— HG00537

T
HGO0607  ne— +E00610
e p— <

HG00708

HGuussu

FIEBB&
S o———

Kt

HG00650

I--
IIS i
.---- .

HG00693 _ e

s ———

HG00543

HG00463
I I_ i
1600560
Il -
HGWGZS

Heos7E

—----ﬂ= HeBmERs

——Jic

G005
0 A A A 63535

i o
—: H 8822%

<P

JCT T e

I — ugmagém

.lE: Y
1

HEsRsEs

— HG00620

[T T T ———— e

o
I = 5

el ===

HGG 0563
HGUUSOG —_—

1L
HGO0619

I o

HGO0512

HG00534

LT
11683399

:(:r_‘(:(
=
]

— T1G00625.

HesRes

— HG00479

—— n%ssz?
-I. --- L]

— N

— HGO0578
— HGO0A28

= 5%
E kil

HG00422

T—gic ]
l-l---ll-leE T

11888338
I AR e S

-100.0

I
-80.0

-60.0

I I I I I I
-40.0 -20.0 0 0 20.0 40.0

I
60.0

I
80.0

I
100.0




